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Sun 26th 
Xmas Teams:
1st   
Janne, Lars B, Torbjon, Gunn
68%

2nd  
Sally, Tomas, Jeremy, Sean

61%

Mon 27th 
N-S
1st
Bob P & Robbie
63%
2nd
Jeremy & Sean
62%

E-W
1st
Aroni H & David F
56%
2nd
Sally & Ivy
56%

Wed 29th 
N-S
1st
Paul Q & Terry Q
62%
2nd
David F & Tomas
55%

E-W
1st
Paul B & Paul Sc
66%
2nd
Gerard & Derek
64%

Fri 31st 

1st
Bob P & Robbie
          =

Jeremy & Sally
62%

Bidding Quiz

Standard American bidding is assumed unless otherwise stated.
Hand A
Hand B
What do you open with Hand A?
♠ K1073
♠ 6
With Hand B RHO opens 1♥ and you choose to overcall 2♦.
♥ AJ73
♥ 6432
Partner bids 2♠, passed to you, what do you do?
♦ QJ
♦ A10932
♣ A84
♣ AQ5
Bidding Sequence Quiz
C
1NT
pass
2♣
pass

2♦
pass
4NT

What is 4NT? Ace ask, RKCB for ♦’s or natural (quantitative)?
D
1♠
pass
2♦
pass


2NT



How many points is 2NT? 
E
1♠
pass
2♦
pass


3NT



How many points is 3NT? 

F
1♥
2♦
pass
2♠
Is 2♠ forcing?
2010 club championship results
This year’s competition is at an end. Congratulations to Janne Roos as the new club champion. All of the competitions were very close and two only decided in the last week. 
In the Gold, Janne just got past Hans because of his team’s great 68% in the Xmas teams. Hans did not play in the teams this year (otherwise he would have been the club champion again) but philosophically commented “when the cat’s away the mice do play”. These guys are great buddies and I’m sure that they are happy to trade the championship year by year. Paul Q was in contention early on but medical problems and mandated absence meant he has to settle for a comfortable 3rd place.
The silver was settled fairly early by Tomas, despite him being absent for a long period, due to a number of impressive 70% scores. 

The Bronze went down to the wire, it looked like Sally had it sown up but was just pipped at the post in the last week by Lars B who was a member of the 68% winning Xmas team. But well done Sally who was right up there in all three competitions (5th in the Gold and 2nd in both the Silver and Bronze).
There’s always next year, and I expect Jeremy and Sean will do well if they play all year.
	
	Gold Cup = Best 30
	Silver Plate = Best 10
	Bronze Medal = Best 5
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	1937.4 Janne Roos
1937.0 Hans Vikman
1872.2 Paul Quodomine
1823.6 Tomas Wikman 
1773.2 Sally Watson
1772.5 Lars Broman
1759.4 GuttormLongberg
1755.1 Jan Chris v Koss
1751.1 Bengt Malmgren
1749.9 Paul Scully
1734.8 Johan Bratsburg
1733.5 Bob Pelletier
1726.4 Mike Guin
	682.9 Hans Vikman
678.6 Janne Roos 
655.7 Tomas Wikman
643.5 Paul Quodomine 
642.8 Sally Watson
639.4 Jeremy Watson 
636.4 Lars Broman 
633.8 Derek & Gerard 
633.1 Sean Burgess 
629.1 Alan Kleist
626.1 Duplessy &Coutelet
625.6 Jean Wissing
623.3 Jan v Koss
619.4 Paul Scully 
618.1 Johan Bratsburg
617.3 Guttorm Lonberg
614.5 Bob Pelletier
614.2 Bob Short
613.1 Tonni Kjaer 
608.8 Bengt Malgren
608.5 Sigurd Zahl
607.0 Robbie Georges
601.5 Per-Ake Rosequist
601.3 Mike Guin
594.6 Dino Schena
591.2 Royd Laidlow
591.1 Ivy Schlageter
583.6 Gus Morosi ...

	354.8 Hans Vikman 
351.4 Janne Roos
341.8 Tomas Wikman
332.5 Lars Broman 
331.5 Sally Watson
327.5 Derek & Gerard 
327.4 Jeremy Watson
326.4 Paul Quodomine
325.6 Sean Burgess 
325.1 Jan v Koss
325.0 Alan Kleist
324.4 Duplessy & Coutelet

323.8 Tonni Kjaer
321.4 Jean Wissing 
318.4 Sigurd Zahl
318.1 Bob Short

316.4 Paul Scully

314.2 Niels Krojhaard
314.1 Guttorm Lonberg
313.8 Johan Bratsburg
310.6 Bob Pelletier 
309.8 Per-Ake Rosequist
308.9 Bengt Malmgren
310.2 Olaf Reis
308.1 Dino Schena 
308.0 Robbie Georges 
305.4 Mike Guin 
303.3 Gus Morosi …



A 1NT opener?





Board 9 from Wednesday 29th Dec
Dealer:
♠ K1073



Table A
North
♥ AJ73

West

North(A)
East

South
E-W vul 
♦ QJ

-

1NT
(1)
all pass

♣ A84




Table B 
♠ Q62

N
♠ AJ5

West

North(A)
East

South
♥ Q84
W
E
♥ 95

-

1♣
(1)
pass

1♥
♦ A10
S

♦ 98753

pass

3♥
(2)
all pass
♣ KQ952


♣ 1063




♠ 984


Table C 
♥ K1062




West
North(A)
East

South
♦ K642


-


1♣

pass

1♥
♣ J7




pass

2♥
(2)
all pass

Table A:
(1)
What did you open with this North hand A in this week’s quiz? Virtually everyone opened the “obvious” 1NT. 

Table B:
(1)
This was the auction at two tables, I believe by Acol players.

(2)
This is a very common ‘error’ by Acol players. With 15 points they tend to jump (SA players open 1NT and have no problem).

Table C:
(1)
This North played 5-card majors and a strong 1NT, but he is not “virtually anyone” and chose to downgrade the hand, and I totally agree (just for a change it was not me). The doubleton QJ is very poor and there is nothing much in the way of ‘body’.

(2)
The hand has improved knowing that there is a good ♥ fit, but 2♥ now is quite sufficient.

And what happened? 1NT-1, 3♥-1 twice, 1NT= three times, 1NT+1 and 2♥+2. 
The bottom lines:

· If you have a very marginal 1NT opener that is also 4-4 in the majors, then let the major suit holdings prompt you towards 1♣ as you will then reach a major suit fit if there is one. If you open 1NT with this poor hand then you miss a major suit fit if partner has less than 8 points.
Dave’s  Column

Here is Dave’s 1st problem this week, on defence.
North
South

West

North

East

South

♠ Q2
♠ AJ73


-


-

-

1♥
♥ 63
♥ AKQJ52
pass

1NT

pass

4♥
♦ AJ7532
♦ -
all pass
♣ 972
♣ K63
You are South. West leads the ♥10 and East follows. With losers as far as the eye can see, can you come up with a winning scenario needing as few miracles as possible?

Dave’s Column Answer




Board 3 from Wednesday 19th December 
Dealer:
♠ Q2



Book Bidding
South
♥ 63

West

North
East

South
E-W vul 
♦ AJ7532

-


-

-

1♥

♣ 972


pass

1NT

pass

4♥
all pass

♠ 1085
N
♠ K964


♥ 1097
W
E
♥ 84

♦ K984
S
♦ Q106

♣ Q54


♣ AJ105


♠ AJ73

 


♥ AKQJ52
You are South. West leads the ♥10 and East follows.
♦ -
With losers as far as the eye can see, can you come up with
♣ K63
a winning scenario needing as few miracles as possible?
Your wish list should include the ♣A with East, an entry to dummy to lead a ♣, along with losing only one ♠ trick. It isn’t as bad as it sounds. If you win the opening lead and exit with the ♠J (key play), you are on the way. If somebody wins the ♠K and leads a trump (best) then you draw trumps, cross to the ♠Q and discard a losing ♣ or ♠ on the ♦A and lead up to the ♣K. If East has the ♣A you have ten tricks. 

If the ♠J is allowed to win, cash the ♠A and ruff a ♠. If this lives, discard a black suit loser on the ♦A and again you make the contract if the ♣A is with East.
P.S. leading up to the ♠Q at trick two works fine if the ♠K is with West, but is a disaster when it turns up with East and a trump is returned.

And what happened at the Pattaya bridge club? 4♥+1 three times, 4♥= four times, 3NT+1.
Dave’s  2nd Column



Here is Dave’s 2nd problem this week.


North



Book Bidding
Dealer:
♠ A

West

North
East

South
West
♥ KJ72

1♠


pass

2♦

pass
both vul 
♦ J63


2♠

pass

3♠

pass



♣ J7642


4♠

all pass

You are North and on lead with this hand. When the deal was first played North was not eager to lead a ♥ from his ♥KJ72; someone had told him that leading from kings was a bad idea. Nor was West inclined to lead a ♣ from his jack since that lead did not look too dynamic. A ♦ lead seemed wrong: East had bid ♦’s. So he led the ♠A “to have a look at dummy” and then judge what to do next. 
If you had been North, what opening lead would you have chosen?

 

Dave’s 2nd Column Answer




Board 4 from Wednesday 29th December 
Dealer:
♠ A



Book Bidding
West
♥ KJ72

West

North
East

South
both vul 
♦ J63

1♠


pass

2♦

pass

♣ J7642


2♠

pass

3♠

pass



4♠

all pass
♠ QJ108642
N
♠ K93


♥ A103
W
E
♥ 854


♦ K5
S
♦ A10842
You are North, what do you lead? 
♣ Q


♣ K10
 

♠ 75

 

♥ Q96

 
♦ Q97
 
 

♣ A9853



North led the ♠A and then shifted to a ♣. South took the ♣A and led a ♥ but declarer took the ♥A, drew the missing trump, cashed the top ♦’s and ruffed a ♦. He then led a trump to dummy and discarded his losing ♥’s on the good ♦’s and made an overtrick.
“I led the ♠A to see dummy,” West apologized.

“Maybe you haven’t heard,” East said sourly. “You get to see dummy no matter what you lead.”

The lead of an ace, especially the ace of trumps, “to see dummy” often loses a vital tempo. East had shown a ♦ suit that West may establish for discards, and North’s ♦ holding suggests that declarer will do well if he tries this. North should lead an attacking low ♥, hoping to cash or establish tricks before declarer draws trumps and uses the ♦’s. When South produces the ♥Q, the defense prevails with two ♥’s and two black aces.
And what happened at the Pattaya bridge club? 4♠+1 twice, 4♠= three times and 4♠-1 three times.
Hanging Partner




Board 28 from Friday 24th Dec
Dealer:
♠ A106





West
♥ Q10974

West

North
East

South
N-S vul 
♦ K6

pass

pass

1♣

1♠

♣ 983


pass

2♠

pass

pass
3♣
(1)
3♠
(2)
4♣
(3)
dbl

♠ 92

N
♠ J43

pass


4♠
(4)
all pass
♥ K53
W
E
♥ J86


♦ J873
S

♦ A92

♣ 10642


♣ AQJ5




♠ KQ875

 
♥ A2





♦ Q1054



♣ K7






(1) This is a very reasonable balancing bid…

(2) … and it had the desired effect of pushing the opponents up.

(3) But here we have one of my pet hates – I call it hanging partner. Raising a balancing bid by partner is rarely a good idea.

(4) Whatever North does he’s a winner now. Pass seems clear but North assumed from the bidding that South was short in ♣’s. I would pass, going for the sure plus rather than an uncertain game. As it happens even at this vulnerability 4♣* would net 800.

And what happened? 3♠ +1 would have been a good score for E-W as 4♠ was bid and made at many tables. 

East tried to justify his 4♣ bid by saying that he thought that partner has some values for his 3♣ bid. This clearly cannot be the case as he passed the first round. This flat hand and nowhere near enough trumps for “The Law” all shout out for East too pass at (3).
The bottom lines:

· Understand balancing, it is an important aspect of the game.

· Do not ‘hang partner’ for balancing and pushing the opponents up. It is rarely correct to raise partner’s balancing bid.
Bidding again having overcalled


Board 28 from Friday 24th Dec
Dealer:
♠ A92





North
♥ KJ10987

West

North
East(B)
South
Love all 
♦ KQ7

-

1♥

2♦

pass

♣ 3


2♠

pass

2NT
(1)
pass

4♠
(2)
all pass
♠ K108543

N
♠ 6


♥ A5
W
E
♥ 6432


♦ 86
S

♦ A10932

♣ K74


♣ AQ5




♠ QJ7

 
♥ Q





♦ J54



♣ J109862






(1) What did you bid with this East hand B in this week’s quiz? I don’t like this at all because
(a) I don’t see a ♥ stop.

(b) The hand is a very marginal 2♦ overcall and I see no reason to bid on. So I would pass.

(2) West assumed that East had a strong hand.
And what happened? 4♠ went two down.
The bottom lines:

· Most players play a change of suit opposite an overcall as constructive but not forcing, and that works very well on this deal.

· However, some do play a change of suit as forcing, and this deal demonstrates why I don’t like that treatment (but then I would not overcall 2♦ with the East hand).

· Stay low on mis-fits and do not bid NoTrumps
Bidding Quiz Answers
Hand A:
1♣. The ♦QJ doubleton is a terrible holding. The hand has reasonable shape but lacks intermediates. It’s a close call (1NT or 1♣) and perhaps the deciding factor with a very marginal hand like this is the fact that it has two major suits. If you open 1NT and partner has something like 5-7 points with a four card major then you will play in 1NT rather than the superior 4-4 major suit. 
Hand B:
Pass. Partner’s 2♠ bid is not forcing and with a dubious overcall you should not bid. Some do play that a change of suit opposite an overall is forcing, and if you play that then you obviously should not have overcalled to start with.
Bidding Sequence Quiz Answers
C
1NT
pass
2♣
pass
4NT here is best played as quantitative. It is not RKCB for

2♦
pass
4NT

♦’s as the 2♦ bid was artificial and not real (could even be just 2 cards – if 3325).
D
1♠
pass
2♦
pass


2NT



2NT here is 12-14 or a poor 15.
E
1♠
pass
2♦
pass
3NT here should be about 16-19, but most likely 18-19 
3NT



as 1NT was not opened.
F
1♥
2♦
pass
2♠
Most play that a change of suit opposite an overcall is constructive but not forcing. But some do play it as forcing.
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